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22 J|er 25 Y (St /2) 2,789,322 2,600,406 188,916
22 AR ON S 2,789,322 2,600,406 188,916
Aot Ao 2d2e 2,003,985 1,713,921 290,064
101 @124l 374,005 409,191 A 35,186
04 D12t 22 HEE = 374,005 409,191 A35,186
g2 2 Ald2e 140,397
— oIl 50,000 = 6F * 249 * 12& 86,400
—Re2zd 75,000 » 68 » 25 11,250
—4E22X 50,000 = 5% * 10 * 123 30,000
— I =l 200,000 » 11&H 2,200
— 40 B2 97,650,000 * 10.8% 10,547
OAMEUE FHHI(HA) 110,499
— QI 50,000 » 3¥ * 24 x 123 43,200
—Re22d 75,000 » 3¥ » 25 5,625
—24822x 50,000 = 9H * 10 » 122 54,000
— o=l 200,000 * 129 2,400
— 40 E8= 48,825,000 * 10.8% 5,274
OXtetd e (d2HEA) 28,099
— Q24 H| 38,400 » 2H » 24Y » 128 22,119
—52Z22E 57,600 = 2H = 25¢ 2,880
— I =l 200,000 = 29H 400
— 40 EE8= 24,999,000 * 10.8% 2,700
OXteted HOAIS (HE/MHEAHHA )2 28,099
— QI 38,400 » 2H » 24 » 128 22,119
—sgZz2sY 57,600 * 2¥ = 25¢ 2,880
— I =l 200,000 » 29H 400
— 40 B8 24,999,000 * 10.8% 2,700
OsEHE & =322 28,621
— oIyl 50,000 *» 2 * 242 * 9F 21,600
—Re2z2d 75,000 » 28 » 2 » 9 2,700
—S8= 24,300,000 * 10.8% 2,625
— I =l 200,000 » 29H 400
— ZHAY| 3,000 » 28 » 242 » 9@ 1,296
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— QI H| 50,000 *» 1098 » 70 35,000
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OZ2322= % HMAl 283,400
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582z 57,600 » 34 * 252! 4,320
— 4 B8 2= 37,498,000 * 10.8% 4,050
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01 Al Bl 50,000 30,000 20,000
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=2 (2L 22 /250 =) 1,896,830 1,458,640 438,190
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201 LEt2 Y| 36,500 36,500 0
01 AFR2t2l bl 36,500 36,500 0
Ogt2H| 36,500
— MEHAEYEY 0ICIH &2 35,000,000 35,000
—#8AIRY 28 %L 425 7Y 1,500,000 1,500
202 O B 3,000 3,000 0
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20,000 » 59 = 10 = 3& 3,000
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—JIEt AIREE 3¢ 1,500,000 1,500
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— D2E (=) €14 338,000 * 300 * 23 2,028
— =2 A %2 100,000 * 14 * 23] 200
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—2Zel £ Y
338,000 * 44 23 2,704
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— JIEt S 28I 3,000,000 3,000
ofgay 24,000
— =R 50,000 * 19 * 3652 18,250
—URAg 50,000 * 14 * 1152 5,750
OFEEY] 7,000
— A2 S A 7,000,000 7,000
202 OF | 14,400 14,400 0
01 2 oIl 14,400 14,400 0
OJ=2¢e +#0iHl 120,000 * 10 » 122 14,400
203 2R A b 3,400 3,800 400
02 MA@ = F Y| 400 800 400
OFAIA AR Z T Y| 40,000 * 10 400
04 SASYAREAY| 3,000 3,000 0
ORM2YAL =AY 250,000 * 122 3,000




